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QUESTION 1

Which two options constitute the rights and responsibilities of a Legal Entity? 

A. Manage warehouses 

B. Create opportunities for new business 

C. Account for themselves to regulators, taxation authorities, and owners according to rules specified in the relevant
legislation 

D. Facilitate resource allocation 

E. Own property 

Correct Answer: CE 

 

QUESTION 2

Which three values are applicable for the profile option ?"Transaction Processing Mode" for subinventory transfer and
interorganization transfer? 

A. Background Processing 

B. Blind Processing 

C. Sequential Processing 

D. Concurrent Processing 

E. Offline Processing 

F. Online Processing 

Correct Answer: ADF 

 

QUESTION 3

Which three types of jurisdictions should be considered while designing the Enterprise Structure? 

A. Income Tax Jurisdiction 

B. Labor Jurisdiction 

C. Local Jurisdiction 

D. Transaction Tax Jurisdiction 

E. Identifying Jurisdiction 

F. Obligatory Jurisdiction 
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Correct Answer: ADE 

 

QUESTION 4

Which action invokes supply chain orchestration and transfer of data to supply chain orchestration interface tables? 

A. running Min-Max Planning 

B. creating Purchase Order Receipt 

C. running a scheduled process called "Create Transactions" 

D. creating a new Inventory Organization for execution of supply chain orchestration 

Correct Answer: A 

 

QUESTION 5

As part of implementing Oracle Cloud for your customer, you defined multiple Business Units. The 

customer wants you to define an Inventory Organization that is associated with all the business units and 

not just one particular business unit. 

How do you achieve this? 

A. Leave the Profit Center Business Unit field blank in the Inventory Organization definition. 

B. Leave the Management Business Unit field blank in the Inventory Organization definition. 

C. Define the Inventory Organization without associating it with any location. 

D. It is not possible to define an Inventory Organization that is associated with more than one business unit. 

Correct Answer: D 

 

QUESTION 6

Your organization is using min-max planning to replenish stock and the planning parameters are set at 

item organization level with a default subinventory: 

Item: A, Min Qty: 25, Max Qty: 150 and Current Level: 20 The item above is purchased from a supplier. 

Although there is subinventory on hand, the subinventory is below the minimum required level. 

This should trigger a Min-Max report entry, but the requisition is not generated. Why? 

A. Rounding the Reorder Quantity is disabled. 

B. Min-max planning can be performed at the Organization level. 
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C. Item is not defined in Manage Item Subinventories. 

D. No value has been set for the "Min-Max Replenishment Reorder Approval" profile. 

E. Fixed lot multiplier is not set. 

Correct Answer: C 

 

QUESTION 7

Your customer wants you to restrict the values of Receivables Transaction Type for their three business units. You
created three reference data sets for each business unit. However, the user is still able to see the values in the
Transaction Type list of values which are not defined in the business unit data set. What is the reason for this behavior? 

A. Reference Data Sets cannot be used uniquely across business units. They can only be used at the Legal Entity
level. 

B. The user is seeing the values defined in the common set. The values should be removed from the common set. 

C. The user has multiple Business Unit Roles and, therefore, is able to see additional values. 

D. Receivables Transaction Types are common across business units. 

Correct Answer: B 

 

QUESTION 8

A customer has one Business Unit, two Legal Entities, and each have eight warehouses (defined as Inventory Orgs).
While trying to set up Cost Organizations for each of these Legal Entities, you were unable to perform the mandatory
step of assigning the Profit Center Business Unit for one set of eight Inventory Organizations; however, you could do it
for the other set. What is the reason for this? 

A. There is no Inventory Validation Organization defined. 

B. There is no Business Unit associated with the Legal Entity. 

C. The General Ledger is not associated with Business Unit. 

D. The Business Unit is not enabled for Costing. 

E. The Legal Entity Setup is incomplete. 

Correct Answer: B 

 

QUESTION 9

Your customer has defined three business units: two of them require the same set of receivables payment 

terms whereas the third needs a separate set of receivables payment terms. 

How will you achieve this requirement? 
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A. Define one data set with common payment terms and exclude the payment terms feature from the third business
unit. 

B. Define two reference data sets, assign the first set to the two business units which will share the same payment
terms and second set to the business unit which needs separate payment terms. 

C. Define three reference data sets and assign each data set to each business unit. 

D. Define one reference data set and modify the business unit security. 

Correct Answer: B 

 

QUESTION 10

The physical inventory process is carried out for a particular inventory organization with the following 

parameters: 

Negative QuantityTol er ance Percentage is set to 10% 

Approval Type = ‘Always’ 

The system says that there are 100 on hand, but you only counted 95. What will happen? 

A. Because the 95 is within the 10% tolerance, it will post without approval. 

B. The system will ask a user to recount before posting. 

C. An approval will be required before posting, 

D. The setup is invalid; it will give an error message. 

Correct Answer: A 

 

QUESTION 11

Your company has multiple inventory organizations where goods are transferred internally. A user has 

created a new organization but the new organization is unavailable when creating an interorganization 

transfer. 

What is the missing setup? 

A. The destination organization transfer type is In Transit. 

B. Interorganization Parameters are not set up between the organizations. 

C. Inventory organization data access for users is not set up. 

D. The source and destination organization doesn\\'t belong to the same legal entity. 

Correct Answer: D 
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QUESTION 12

Identify the availability type that is applicable for the item quanities maintained in a unit of measure different from the
primary unit of measure and is available for various transactions. 

A. Available 

B. Secondary Available Quantity 

C. Reserved 

D. On Hand 

E. Secondary On-hand Quantity 

Correct Answer: B 

 

QUESTION 13

Your client wants certain inventory items of high importance to be counted periodically to improve the 

average level of inventory accuracy. 

What type of counting would you recommend? 

A. Cycle Count 

B. Blind Count 

C. Physical Count 

D. Zero Quantity Count 

E. Manual Count 

F. Serialized Count 

Correct Answer: A 

 

QUESTION 14

Identify three statements that are true about reservations in back-to-back processing. 

A. Changes to reservation in Oracle Logistics Cloud leads to exceptions, which are displayed in the Supply Chain
Orchestration work area. 

B. Reservation supplies that can be reserved are Purchase Orders, Transfer Orders, Work Orders, and On Hand
inventory. 

C. Reservations cannot be created for back-to-back On Hand supply orders. 
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D. Partial fulfillment of reservations is supported. 

E. One reservation is created for a demand and supply. 

Correct Answer: ABE 

 

QUESTION 15

Your customer decides to implement Cloud Procurement and Inventory. While discussing with your 

customer, you come to know that they have a business that spans across multiple locations and they have 

warehouses situated across USA and Canada. 

All their procurement, payables, and distribution activities take place from USA. 

They have a central warehouse in USA and after the goods are delivered to this warehouse, they are 

distributed across multiple additional warehouses. The warehouses are managed separately from the 

requisitioning units. 

For requesting material they have two units. One located in USA that monitors the current stock. 

They are responsible for creating requisition for any material shortage in USA. They have another location 

in Canada for requesting material. 

Which setup fulfills this scenario? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 
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